Political Economy and Social Movements, Fall, 2006

 Economics Problem Set #2.—Due Friday, October 27, 2006

Please type up your answers. Staple all pages together. Give succinct but substantive answers. 

 Answer all 

1) Briefly discuss the concept of class and class relations as developed in Bowles, Edwards and Roosevelt, Chapters 6 and 7. Why do they argue the key class relationship in a capitalist economy is the one between the working class and capitalist class. Why has the “old middle class” declined and the “new middle class grown”. How does their class analysis differ from the more common sociological ones that primarily focus on education, status, and income; e.g. upper middle, lower middle, etc.  Which of these two class analyses do you think is more useful? Why?

A class is a group of people who share a similar position in relation to the production and control of the surplus product. A vertical class relationship exists between the producers of the total product, and those that control it. In capitalism, the key relationship is between the owners who control the surplus (capitalists) and those who produce it (workers). They argue that this is the most basic class relationship because the production process is inherently defined by these class interests. Capitalism is defined by a production process where the owners own capital goods and hire labor to produce commodities. This tense relationship structures many of the basic and conflicting dynamics that characterize a capitalist society, and helps to define the rules of the game.  

The old middle class which owned the means of production but did not command the labor of others was more or less out competed by the capitalist class. Because they did not command the labor of others, they were not able to accumulate as much surplus, and were thus overtaken by the capitalist class. As this happened, the rise of the new middle class, which did not own its means of production, but commanded the labor of others, occurred because the capitalists needed people to manage their workers. 

The political economic study of class differs from the normal sociological one based on lower, middle, upper middle, and upper classes and focuses mainly on income, and sometimes education, status, etc, because it focuses on dynamics of power and control, rather than just income and lifestyle. In many ways the political economic study of class informs the sociological one. In analyzing the inherent tensions and power dynamics of a capitalist economy and where it is going, as well as analyzing how the production process necessarily structures society, the political economic class analysis is obviously more useful. In analyzing the quality of people’s lived experience, especially various forms of oppression, while the political economic analysis of class is a powerful determinant, sociological classes like education, income, race, and gender, are also powerful determinants.

2. Explain in a few sentences, four of the following five concepts and discuss their usefulness, importance or lack thereof.

      A. Accumulation of Capital

The accumulation process is a process of profit driven investment that determines all of society’s productive decisions, and helps to create constant change within a capitalist system. The imperative of accumulating profit without end determines society’s production process. If something is not profitable, like medicine for poor people, (see invisible foot p. 221, sleeping sickness 225) it will not be produced, and if it is produced, it surely will not be distributed. Think of society organized as a machine solely to maximize the profits of the investing ownership class. Everything else, like producing the things that people depend on for life, is secondary, a by product of creating more profit, and will only be done if it maximizes the investors profit. They are mere externalities of the production process. The process of accumulation within a competitive profit driven system also forces constant technological change. If a capitalist stands still, they are left behind. When supply is fixed in the long run, the only way to increase GDP is through increasing your factors of production (which often leads to imperialism and plundering the resources of the periphery) or through new technology.

      B. Productivity

Productivity is a measure of output per unit of input. Economists argue that it is the main determinant of a society’s standard of living. However, historically, gains in productivity go into the pockets of the ownership class. 

      C. Segmented Labor Markets

Labor markets are segmented when they are divided into separate or distinct markets where the demanders and suppliers of labor in one market do not compete with demanders and suppliers in other markets. Labor market segmentation, especially when fueled by job discrimination along race and gender lines, helps to divide the working class against itself.

      D. Mode of Production

A society’s mode of production, in classic Marxian terms, is the economic base upon which society’s political and social superstructures are built. It is the soil which conditions the range of possibilities. For example, the rise of the ideology of the self, or atomistic individual, can trace its origins to the 17th century and the rise of capitalism. In many ways, this conception of the self was required by the development of capitalism, and would have had much trouble taking root in the soil of other cultures based on a more communal hunter-gatherer or agriculture economic base. A mode of production consists of the forces of production, i.e. technology, science, labor power, means of production etc, and social relations of production, i.e. private property, power and control relations governing society's productive assets, often codified in law, cooperative work relations and forms of association, relations between people and the objects of their work, and the relations between social classes. Different modes of production throughout history include feudalism, slavery, the Asiatic mode of production, and capitalism. 

3. Explain why Wal-Mart’s business model, see article, 4.1 in Real World Micro; and also the growth of  unregulated work, article 4.3 in Real World Micro, are more compatible with the current Social Structure of Accumulation (SSA) than the previous SSA. Explain. 

According to Real World Micro Wal-Marts business model and the growth of unregulated labor are very profitable and successful in today’s highly competitive market because of a high-tech just in time production system, and they have found a way to cut labor costs – breakthroughs in labor technology. Interestingly enough, they do not mention the fact they Wal-Mart also highly exploits workers in China, as well as its service workers in the U.S. In article 4.3 they argue that the growth of unregulated labor stemmed from much of the same factors that caused the stagnation of wages since the ‘70s: deunionization and globalization. However, they take it a step further and argue that even that one-two punch cannot explain the rise, a third factor is needed: government intervention (or lack thereof). 

I would argue that these three factors are more symptoms of the underlying structural stagnation, and less causal factors. I would argue that the rise of the neoliberal mode of accumulation was a structural reaction to the economic stagnation that signaled an end to the post war developmental SSA, and that this was what caused the lack of government intervention on the side of the people. The post war model, and the business labor accord, was premised on the idea of dividing a growing pie. The factors that made this pie grow are varied, and debatable, but most agree it was caused by special historical conditions relating to the U.S.’s incredible economic strength immediately following WWII. Some have argued that the post war golden age was mainly caused by 1) pent up demand from the war, 2) rebuilding Europe and Japan, 3) Cars and suburbanization, 4) The military industrial complex, and 5) Uncle Sam’s role as global banker and policeman. What is important to note that is that all of these forces were inherently self-limiting, and that the growing pie that labor and capital shared was based on exploiting the global south. The surplus to split had to come from somewhere, and was extracted from the periphery. Through out this interstate developmental model, the U.S. had to maintain dominance while still providing a framework of development for the European and Japanese blocks. The crisis of the ‘70s was caused by the exhaustion of this framework: the pie stopped growing. You see this in the drop off in productive investment opportunities in the main capital goods sector of the economy, the addiction to debt and the subsequent rise of financialization and speculation. Once the pie stopped growing, the ruling class still had to maintain and increase their rate of profit, and the counter-revolution from above, i.e. the Reagan Revolution, kicked into full swing with policies that helped facilitate the redistribution of wealth from the bottom to the top in order to maintain the rate of profit. I would argue that the Neoliberal mode of accumulation is a process of dispossession by redistributing wealth from the bottom to top through the liberalization of financial control and trade, and emerged as a structural reaction to economic crisis of the 70’s and was more or less necessary to reproduce the capitalist system.
I think it is important to think of it like this because many people who study SSA’s are nostalgic for the postwar golden age, and wish that if we could only return to that era, where government used Keynesian policies to regulate business, everything would be peachy and capitalism would have a human face. I think this is wishful thinking. The previous SSA was hardly capitalism with a human face. The social democratic welfare state was supported by the military industrial complex and the extraction of surplus from the periphery. Further, the limits of democratic control are revealed by the fact that government must support the accumulation process and underwrite business confidence for fear of a capital strike. Also this process of dispossesion has only deepened and extended - it seems that Neoliberalism is entering a new stage: Military Neoliberalism. The consensus that the continued extraction of surplus from a shrinking or stagnant pie can continue peacefully has seemed to break down (the DOHA round of trade negotiations failed - it seems like free markets are a myth and historically have only been advocated by the hegemonic state for when they are in its interests), and it looks like this new round of plundering will be very violent (i.e. Iraq, the Niger Delta, U.S. – China tensions, etc.). To that end, we see U.S. foreign policy focused on preventing the rise of any competitor, the control of critical geopolitical resources, and the deepening of U.S. force projection through the creation and repositioning of military bases. Further this explains the deepening financial institutions necessary to facilitate the continued surplus extraction. These causes are debatable, and currently being debated, for more information than I can provide in this, I would recommend reading the writings of:
Paul Sweezy and the Monthly Review Crew wrote quite a bit on industrial stagnation, and in fact the new lead article in the november edition, entitled debt and speculation and is a good summary of stagnation theory. (Interestingly  enough, I didn't here about it until right after the talk when one of my friends asked - you seen the new monthly review? Theres a great article on stagnation) It is available online for free, along with hundreds of great articles, (search for Einstein...) at www.monthlyreview.org/
Immanuel Wallerstein, the father of world systems analysis, a very powerful tool – you can find a great library of his papers here: http://fbc.binghamton.edu/papers.htm 

an article detailing the history of and current deepening of world  financial structures by Leo Panitch and Sam Gindin in the Socialist Register which can be found for free here: http://socialistregister.com/files/SR_2005_PanitchGindin.pdf
Last for detailed economic analysis of tensions between US and China, my favorite writer is Henry C.K. Liu whose writings are available here: http://www.atimes.com/atimes/others/Henry.html
4. In Marxism, the source of surplus value and profits are the exploitation of labor, they come from the sphere of production. More common explanations, e.g., populist, focus on firms being able to get away with charging high prices, e.g., Exxon, the oil companies are gouging us. Explain Marx’s concepts of labor and labor power and exploitation and why he claims this is the source of surplus value and profits? How does this explanation differ from the idea of corporate profits coming from setting prices? What is your assessment of these two different explanations?

Marx’s concept of labor is how much that is actually produced, while labor power is the commodity which is sold to a capitalist for a wage. Exploitation is labor – labor power. The worker is exploited because he is paid less than he produces. It is important to note, that unless the capitalist can pay a worker less than he produces, he will not be able to make a profit, and it won’t be in his interest to hire the worker. Also, even if he paid his worker higher than the market rate, if he was extracting surplus value from the worker, it would still be exploitation. Instead of the conservative slogan, “a fair days wage for a fair days work,” Marx would argue for the abolishment of the wage system. This is different from the populist explanation because the populist explanation takes value as given, and does not question the source of the commodity’s value. It simply states, here is the marginal cost, and add on a little extra profit at the end. Also, in competitive markets, price gouging is much harder. To me, from a conceptual point of view, the Marxian theory makes more sense. However, in the practice of actually figuring out what determines the final market price of an item, it is less practical. It is important to note that the labor theory of value has also been challenged by both left and right, and that Marx’s theory of exploitation does not depend on this theory, and can still be readily formulated using marginal theories of value. At bottom, whatever theory of value you use; it is not in the employer’s interest to hire a worker unless he can pay him less than he produces. 

5. In Marxism, “a reserve army of labor” is the normal state of affairs in a capitalist economy. Explain why it is the normal state of affairs, and the relation between the reserve army of labor, the level of real wages, and profits. Hint: use the concept of bargaining power. 

In capitalism, a reserve army of labor is not only the normal state of affairs; it is essentially required as a critical tool to enforce labor market discipline by reducing the bargaining power of workers. If there is a surplus supply of labor, it pushes the market price of labor down. It is in general the normal state of affairs, but often has to be forcefully reproduced, often by the state. Also, the creation of the working class - the process of primitive accumulation - through the enclosure movements was extremely bloody, and the process of dispossession through which the reserve army is reproduced continues to be conflict laden and bloody. In fact it seems that primitive accumulation – and really all forms of dispossession – seems to be necessary to reproduce capitalism, especially during crisis periods. 
Extra credit: How did Selma James use this theory to argue that wages for housework would increase overall wages and reduce surplus value? 

I wasn’t not present for the lecture, but I think she argued that wages for housework would reduce the size of surplus labor, and thus strengthen the bargaining power of labor and that if women received wages for their housework, than it would increase the bargaining power of labor by lessening the dependence of labor on capital. If there was a separate source of income, strikes would be much easier. 

